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Question Number : 1 Question Id : 3271673410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following are fat soluble vitamins?

Options:
, v ADE&K



, w A,C.D&K
2 %« AB.C&D
4 % AB,C&E

Question Number : 1 Question Id : 3271673410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 2 Question Id : 3271673411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

contributes to the formation of cerebrospinal fluid.
Options:
, » Ependymal cells

- « Choroid plexus

- % Nephrons

4 % Astrocytes

Question Number : 2 Question Id : 3271673411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 3 Question Id : 3271673412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Vitamin K is required for:

Options:



, % Change of prothrombin in to thrombin
-  Synthesis of prothrombin
o % SCUVy

4 % Rickets

Question Number : 3 Question Id : 3271673412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 4 Question Id : 3271673413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
plays an important role in sleep-wake cycle.

Options:
, % Spinal cord

> % Cerebrum

2 Hypothalamus

, % Epithalamus

Question Number : 4 Question Id : 3271673413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 5 Question Id : 3271673414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Vitamin C is required for preventing:

Options:



1w Scurvy

> % Rickets

5 % Pellagra

4, % Night blindness

Question Number : 5 Question Id : 3271673414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1\_;’-\'3%

4 ® Tt

Question Number : 6 Question Id : 3271673415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The basic structural and functional unit of nervous system is
Options:

, w» ganglia

=  nNeuron

5 % nephron

4 % Synapses

Question Number : 6 Question Id : 3271673415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 7 Question Id : 3271673416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The deficiency of Vitamin D causes:

Options:



. % Scurvy
> « Rickets
3z % Beriben

4 % Nyctalopia

Question Number : 7 Question Id : 3271673416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 8 Question Id : 3271673417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Somatic Nervous system consists of pairs of cranial nerves.
Options:

1.+ 12

oow 18

4 % 8

Question Number : 8 Question Id : 3271673417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 9 Question Id : 3271673418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Vitamin B12 is also known as:
Options:

, « Cyanocobalamin



> % Methylcobalamin

z % Cobalamin

4 % Bromocobalamin

Question Number : 9 Question Id : 3271673418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 10 Question Id : 3271673419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hypothalamus is otherwise known as:

Options:

.« Mammillary region
- % Vasomotor cenfre
= % DBroca’s area

4 % Reflex arc

Question Number : 10 Question Id : 3271673419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 11 Question Id : 3271673420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Wilson’s disease occurs due to the accumulation of in the tissues.

Options:
1 % Zinc

o « Copper



5 % Ilnagnesium

4 % calcium

Question Number : 11 Question Id : 3271673420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 12 Question Id : 3271673421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following are called as major minerals?

Options:
, + Calcium. Phosphorus, Magnesium

> % Copper, Calcium, Sodium
5 % Calcium. Sodium. Iron

4 % Magnesium. lodine. Zinc

Question Number : 12 Question Id : 3271673421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 13 Question Id : 3271673422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Iron is an important component of:
Options:

, « hemoglobin

- % ceruloplasmin



= % transferase
4 % transaminase

Question Number : 13 Question Id : 3271673422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 14 Question Id : 3271673423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Osteoporosis is related to the following mineral:

Options:
1 + calcium
> % potassium

3 % mangarnese

4 % chromium

Question Number : 14 Question Id : 3271673423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 15 Question Id : 3271673424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
1s the largest organ in the body.

Options:
1 % Stomach

> o Skin

z # Liver



, » Kidney

Question Number : 15 Question Id : 3271673424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 16 Question Id : 3271673425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Calcium is excreted by which organ?
Options:

, % Kidney

>  Kidney and Intestine

5 % Kidney and Liver

, = Kidney and Pancreas

Question Number : 16 Question Id : 3271673425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 17 Question Id : 3271673426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The substances that readily evaporate are called as:

Options:
1 % Sublimed substances

> « Volatile substances



- » Deliquescent substances

, » Hygroscopic substances

Question Number : 17 Question Id : 3271673426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 18 Question Id : 3271673427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not related to heart attack?

Options:

, w» Elevated blood pressure
- % Stress

z % Cholesterol

4 « Marasmus

Question Number : 18 Question Id : 3271673427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 19 Question Id : 3271673428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of these preparations is designed to be instilled into the eye?
Options:

, « Ophthalmic preparations

- % Dermal preparations



- % Nasal preparations

, % Otic preparations

Question Number : 19 Question Id : 3271673428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 20 Question Id : 3271673429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The total magnesium content of human body is nearest to:
Options:

L% 5 gms

5 % 10 gms

5 % 15 gms

R ;
4 25 gms

Question Number : 20 Question Id : 3271673429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 21 Question Id : 3271673430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Vitamin E is also useful for:
Options:

1 v Skin well being
> % Bone formation

= % Heme formation



, % Hair growth

Question Number : 21 Question Id : 3271673430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 22 Question Id : 3271673431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Daily requirement of iron for normal adult male is about:
Options:

| ® 2mg

o o 8 mg

5 % 15mg

4 % 20mg

Question Number : 22 Question Id : 3271673431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
, % 2 mg

2. 8 Mg

- » 15 mg
4 » 20 mg

Question Number : 23 Question Id : 3271673432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Substances whose aqueous solutions conduct electricity are known as:

Options:
1 % Cations
- % Anions

-  Electrolytes



, % Ampholytes

Question Number : 23 Question Id : 3271673432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 24 Question Id : 3271673433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The richest source of calcium among the following is:

Options:
| % CEES
> o milk

5 ® legumes

4 % green leafy vegetables

Question Number : 24 Question Id : 3271673433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 25 Question Id : 3271673434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The minute indivisible particles. from which all materials were made is called:

Options:
1 # Proton

- % Electron

= « Afom



4 % Ion

Question Number : 25 Question Id : 3271673434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 26 Question Id : 3271673435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The daily requirement of calcium is closest to which value?

Options:
L % 200 mg

5 % 400 mg
5 1000 mg

4 % 0600mg

Question Number : 26 Question Id : 3271673435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, = 200 mg
5 » 400 mg
5 « 1000 mg
4 » 800 mg

Question Number : 27 Question Id : 3271673436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The arrangement of the elements in accordance with the periodic law is:

Options:
, w» Bohr’s Theory

- % Dalton’s Theory

3 « Periodic Table

4 % Hund’s rule



Question Number : 27 Question Id : 3271673436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 28 Question Id : 3271673437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Another name for Whooping cough is:

Options:
, w Poliomyelitis

-~ % Japanese encephalitis
3 % Yellow fever

4 « Pertussis

Question Number : 28 Question Id : 3271673437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 29 Question Id : 3271673438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
is a non-conducting transparent solid.

Options:
1 « Glass

5 % Copper

z % Gold

4 % Silver



Question Number : 29 Question Id : 3271673438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 30 Question Id : 3271673439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following drugs is used to treat worm infections?
Options:

, = Ciprofloxacin

> « Albendazole
%z % Paracetamol

, % Ibuprofen

Question Number : 30 Question Id : 3271673439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 31 Question Id : 3271673440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The rate of a reaction proportional to the first power of the concentration of a reactant is
knhown as:

Options:
1 % Second order reaction

> « First order reaction

%z % Zero order reaction



4 % Pseudo order reaction

Question Number : 31 Question Id : 3271673440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 32 Question Id : 3271673441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

DOTS programme is associated with:
Options:

, % diphtheria

-~ % typhoid
3 « tuberculosis
4 % malaria

Question Number : 32 Question Id : 3271673441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 33 Question Id : 3271673442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The primary function of which cells is the development of the various defence
mechanisms and repair processes?

Options:

, % thrombocytes



o  leukocytes

- u erythrocytes

4 % reticulocytes

Question Number : 33 Question Id : 3271673442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

_ FE FRee § S grufae s RAfees grer sonfeat # erw
FAT TF FAFAT IHATT FLAT g

Options:

1 ® ;”; Ei I Iga'\-\.zf

LY
I CaR ErR

Question Number : 34 Question Id : 3271673443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is eradicated in India?
Options:

|« Small pox
> # Cholera

- % Chicken pox

4 % Diphtheria

Question Number : 34 Question Id : 3271673443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 35 Question Id : 3271673444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Anaemia i1s commonly seen in:



Options:

, w diabetic patients

-  DPregnant women
z ®% 1men

4 % SPOIts persons

Question Number : 35 Question Id : 3271673444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 36 Question Id : 3271673445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Amoebiasis can occur:

Options:
1 % in children

5 « at any age
= # 1n adults
4 % ininfants

Question Number : 36 Question Id : 3271673445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 37 Question Id : 3271673446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The ability of a substance to attract and hold water molecules from the surrounding
environment and remain in the same state is known as:



Options:
, w Deliquescent

-  Hygroscopic
= % Effervescent
4 % Eutectic mixture

Question Number : 37 Question Id : 3271673446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 38 Question Id : 3271673447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many types of tissues are present in Human Muscular System?

Options:
1. % 3

> ®% 5
3 ¢ 4
4.332

Question Number : 38 Question Id : 3271673447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1 % 3
5 % D
3¢ 4
4 % 2

Question Number : 39 Question Id : 3271673448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many bones are there in Axial Skeleton?



Options:
1 % 106

5 % 206
3. ¢ 80
4 % 126

Question Number : 39 Question Id : 3271673448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Options:

_ % 108
, % 208
3 v 80

. % 126

Question Number : 40 Question Id : 3271673449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Anaemia is due to the reduction in the number of:
Options:

1.« EBC

> # WBC
= % Platelets

4 % Plasma

Question Number : 40 Question Id : 3271673449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

, v RBC
. « WBC
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Question Number : 41 Question Id : 3271673450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Malaria is caused by which microbe?
Options:

1 « Protozoan

5 w Fungi



z % Virus

4 % DBacteria

Question Number : 41 Question Id : 3271673450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 42 Question Id : 3271673451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Solubility of substance can be increased by:
Options:

, w [reezing

- % Vapourisation

o  heating
4 % cooling

Question Number : 42 Question Id : 3271673451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 43 Question Id : 3271673452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Chikungunya fever is transmitted by:
Options:

, % culicine mosquito



- % culex mosquito
-  aedes mosquito
4 % Inansoniamosquito

Question Number : 43 Question Id : 3271673452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 44 Question Id : 3271673453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Bloodisa tissue.

Options:
1 % fibrous

> « connective
z % muscle

4 % elastic

Question Number : 44 Question Id : 3271673453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 45 Question Id : 3271673454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The first Cervical vertebra is also known as:
Options:

1 ® AXes



- « Atlas
= % Thoracic vertebra

4 % Cervical vertebra

Question Number : 45 Question Id : 3271673454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 46 Question Id : 3271673455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The pH range of blood is:

Options:

Question Number : 46 Question Id : 3271673455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
&g Fr pH I3 #2722

Options:

1« 7.35 - 7.45
> % 8.35 - 8.45
z % /-8
4 % 8-9

Question Number : 47 Question Id : 3271673456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Oral rehydration solution does not contain:

Options:
1 % sodium chloride

- % sodium bicarbonate

-  sodium cyanide



4 % glucose

Question Number : 47 Question Id : 3271673456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 48 Question Id : 3271673457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Toxicology is the science that deals with:

Options:
| « Doisons

> % drugs

= % insects

4 ® organs

Question Number : 48 Question Id : 3271673457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 49 Question Id : 3271673458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

One of the main symptoms of Cholera is:
Options:

, % high blood sugar

-~ % hypertension



= « diarthea
4 % igraine

Question Number : 49 Question Id : 3271673458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FIeRT T & JTHG T&T0T H & Th gl

Options:

| % 39 & U

. % 3%H (&g
3 o

., w T

Question Number : 50 Question Id : 3271673459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The type of tissues on the inner lining of the mouth and esophagus are

Options:
1 % mast cells

> % hyaline cartilage tissue
= % areolar connective tissue
4  Dhon-Keratinized stratified epithelium

Question Number : 50 Question Id : 3271673459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 51 Question Id : 3271673460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
is the longest bone.

Options:

, % Hip bone



- % Scapula
z % Tarsal bone
4 « Femur

Question Number : 51 Question Id : 3271673460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 52 Question Id : 3271673461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The total volume of blood in human body is:

Options:

1 « 5-6litre

> % 4 -5 litre

= = 3 -4litre

4 ® 6-7 litre

Question Number : 52 Question Id : 3271673461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 53 Question Id : 3271673462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An nsect which transmits a disease is called a/an:
Options:

1 % Intermediate host



- % Parasite
= o Vector

4 % Prey

Question Number : 53 Question Id : 3271673462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 54 Question Id : 3271673463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following diseases spreads via air?
Options:

1 « Swine flu

» % Typhoid

=z % Cholera

4 % Malaria

Question Number : 54 Question Id : 3271673463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 55 Question Id : 3271673464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Incubation period of Chickenpox ranges between:

Options:
1 % 7-17 days

> « 10 - 21 days



5 % 14-28 days
4 % Within 7 days

Question Number : 55 Question Id : 3271673464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 56 Question Id : 3271673465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which is the order of Mitosis cell division?
Options:

, w Anaphase, Telophase, Metaphase. Prophase

- % Metaphase. Prophase, Telophase. Anaphase
-  Prophase. Metaphase. Anaphase. Telophase

4 % Telophase, Anaphase, Prophase. Metaphase

Question Number : 56 Question Id : 3271673465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 57 Question Id : 3271673466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Bone is the reservoir of

Options:

, « calcium and phosphorous

> % carbonate and iron



5 % hydrogen and oxygen

, % magnesium and nickel

Question Number : 57 Question Id : 3271673466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 58 Question Id : 3271673467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Red Blood Corpuscles are also known as:

Options:

, « Erythrocytes
- % Thrombocytes
5 % Leucocytes
4 % Plasma

Question Number : 58 Question Id : 3271673467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 59 Question Id : 3271673468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a communicable disease?

Options:
1 « Malaria

- % Diabetes



- » Hypertension

4 % Hyperlipidemia

Question Number : 59 Question Id : 3271673468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 60 Question Id : 3271673469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Dengue fever is caused by:

Options:
1 % snake bite
> % consumption of contaminated food and water

5 mosquito bite

4, % insulin deficiency

Question Number : 60 Question Id : 3271673469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 61 Question Id : 3271673470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the mode of transmission of mumps?
Options:

, w consumption of contaminated water

o  droplet



= % food-borne

4 % insect bite

Question Number : 61 Question Id : 3271673470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong: 0.25
Ty foFw ATeTH ¥ therar 87

Options:

| SERE T ¥ s @
o 5 @

o &

. % T e |
i Eﬁ?aﬂ'rﬁ

Question Number : 62 Question Id : 3271673471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which is the only tissue present in cardiovascular system?

Options:

L% Cartilage

> « Cardiac Muscles
= % Smooth Muscles

4 % Neuroglia tissue

Question Number : 62 Question Id : 3271673471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 63 Question Id : 3271673472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

How many ribs are present in a human body?
Options:

1 = 12



12 pairs
24 pairs
4 W 14
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Question Number : 64 Question Id : 3271673473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The normal blood pressure of a healthy human should be:

Options:
1« 80-120 mm/Hg

> % 90-130 mm/Hg
- % 70-140 mm/Hg
4 % 90-110 mm/Hg
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